Potencias de 10 (I)

79-+0.01

85+0.01

32+0.01

9+0.01

6--0.01

81+0.01

81-+0.01

93 +0.01

73 +0.01

59-+0.01

Calcule los siguientes cocientes.

90 =0.01

61-+0.01

82-+0.01

62 +0.01

6--0.01

71-+0.01

49 +0.01

28 +0.01

11-+-0.01

63 +0.01
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Potencias de 10 (I) Respuestas

79-+0.01
7,900
85-+0.01
8,500
32+0.01
3,200
9-+0.01
900
6--0.01
600
81=+0.01
8,100
81=+0.01
8,100
93 +-0.01
9,300
73 +0.01
7,300
59+0.01
5,900

Calcule los siguientes cocientes.

90-+0.01
9,000
61 -+0.01
6,100
82-+0.01
8,200
62 +0.01
6,200
6--0.01
600
71+0.01
7,100
49 +0.01
4,900
28 +0.01
2,800
11+0.01
1,100
63 +0.01
6,300

MatesLibres.Com




